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mMooIN returns now to our case of 7o 7127 INPAT X0I99n: In the case of Xn°°va Xnwpa, where
the 1 was there for four years and made a proper 7ipin everyone agrees that if the p1rn
subsequently brought o°7v that the 73% was X1 717 72 77, the property would remain by the
P in. He would retain the property on the basis of his 7P and the 71°1yv of 72 that the 70
bought it from the 7y7vn (at least) four years ago and the 7w ¥» was not 7m» until after the
711. Both the 751 and the °111 retain the right to the field on the basis of the nny ww) apm
(1330 W M.

The question arises in the case where the P11 did not make a 7P, According to m901n if the
P 1 would have claimed 7 77321 >7°7 *»p (or K1Y 1 72 27 077 »p), the P 1n would be
believed with a wn of 09wn 77w 7o 82, However if the P merely claimed 01021 801991
711 711217 and did not claim *7°7 *»p, can he subsequently bring 27y that X1 717 72 77. On one
hand since there are 2°7v that 821 717 772 77 then 72 is ¥ on behalf of the P*1n that the 201
bought it from the I¥7yn with a 1 that 2"w3%. On the other hand, this W of 2"wn%, while it
may serve as a » for the 7121 against the “¥7vn, however from the perspective of the P 1,
we cannot use this 13°n, since the 1M already admitted that it belonged to the 7v7yn. The
P11 no longer has the 1°n of the 121, For the p>1rn it is a ¥1791? 1.

1797 X727¥2Y — and in our case where the p*Inn claims 191 7nP2AT X°1791 and he had no
711, and the 7¥7vn had no 0°7¥ that it was originally his —

STIT0 PO ONv 7 O — if the Pt would have subsequently brought 27y —
N2 717 57192 977 — that the seller lived there (in the field) for one day —

277aR 12 R 921° IR"1 — it seems to the R'"awn -

o2 RYINY MRy ['95] mmT — that the land would be placed in the
possession of the p>mn.

137 X7 23 HY X — even though the P 1 has no longer the 39 of *a"wn; for as
previously stated it is a ¥791% N —

nPIvY JIpw 23p» Yon — nevertheless the P 1 will get the field since there is a
rule that 7">2 argues on behalf of the buyer. The buyer has o>y that the 151 was 77
Xm 1 73, this makes him a legitimate buyer; therefore 7"°2 will argue on his behalf. mooIn
goes on to explain that 7"2 will argue -

2% AR DM TR R — that since the seller is believed to claim —

7352 102t — I bought it from you (the 9yw») and the 151 would be believed (even
though he has no 7p11) —

aWR TOW T RY MR o2 ORT w2 — with the A that the 251 could have
said to the 7y7vn it was never yours; we are discussing the case where the 7wwn» has
no 2°7v that it was ever his. Therefore (claims 7"°2) since if the 12m were here and claimed
that he bought it from the 7¥7¥» he would have been believed, therefore the »°1mn who bought
it from the 7211 gets to keep the field.

! See n"an .

1t seems (according to the X"aw") that if the p>1n originally claimed that >7°7 >np X1 777 72 777 NPT ROI9ON
721 X1217, then he would surely be believed. In that situation both the 277 and the 751 have the (same) 13°n of
o"wi? simultaneously. However in this case where the ?>1rn lost the 13°1; how can the p>1nn retain the field on the
basis of a 1°» which only the 721 has but the P11 does not! See footnotes # 5 & 8.
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mMooIN anticipates a (side”) difficulty with this reasoning:

Yo o p70 et ORTT 23 Y OXY — and even though that this buyer (who is
claiming 7% 73217 702°21 X°1991) knows that it once was the s"y1vn; for he himself says 71217’
'M _

X770 7172 MM — and this buyer-p 117 is like one T¥ who testifies that the 75vn was a
Xnp XM, The question is; how can we believe the 721 that he bought it from the “¥yn with
the wn of 0"wi%; when the p>1nn is testifying that it did belong to the 7y ¥n contrary to the 2
of the 70m. The 117 is an IR 7Y who contradicts the 7% of the 92! The 221 has no »n of
a"wnb. The 75m would not readily claim 2"wi% since there would be an X v who
contradicts him.

mooIn responds:

W% 7 2IPn Bon — nevertheless it is a valid 33 notwithstanding that there is an X"y
who contradicts him. An X"V is not sufficiently strong (in some cases) to compromise the °n.
mooIn proves his point:

NaR 9297 NRO®1 %23 (30 n7) Japw vawnts — as is indicated in the X3 later

concerning the ‘piece of silver on which XaR 929 ruled. In the (famous) case of X301
XaX "7, a person (J21%1) grabbed away a piece of silver from his friend (159»%) in the presence
of one 7¥. When confronted, 1217 readily admitted that he grabbed the X201, however 21X
claimed that the X201 was his and not s"wy»w. If there would have been no 7¥, then j2187 would
have been believed that it is his X301 with a 131 that he never grabbed it away from Nnwaw — X
novn. This wn of *nowvn XY is however compromised by the X"v; for had j2187 claimed R>
°noun he would have had to swear against the X"¥. The X713 considers J21X7 to be obligated to
swear (¥aw°? 21n), since the power of his 2n is weakened by an X"V that requires him to
swear. However he is considered not able to swear (¥aw°? 912° 1°RY), since presently he is not
contradicting the 7v. Therefore since he is a yaw°? 912° 1°X) 712w 2177 the ruling by XaR " is
that 72387 must return the X201 to 11vnw. It seems from that X723 —

(*)[n]m[“‘r] X° *R[7] — that were it not for the fact that 12187 was —

pawn® $12° 1KY AR 290 — obligated to swear but could not swear; if not
for that fact, meaning if j21%7 would not be obligated to swear —

=719 3912 37281 777 — he would have been believed to claim, that —

spurn 5757 — I grabbed my own piece of silver —

BLN KD 972K Y3 X7 12 — with a 1% since he could have claimed I did not
grab anything —

7U7 DR wenon 751 — and even though that he would be contradicting the 7v;
12381 would still have been believed. XaR " does not say that the 1% of *novn X is not a valid
13°n on the basis that it contradicts an X"v. Rather the 1 is compromised on account of the
712w which the X"y generates. However the X"Y by himself does not weaken the n.

Therefore in cases where an X"y would not generate a 7¥12w, a 13°» which contradicts an X"y
would be a valid 1°». M01n now concludes —

? This is a side issue whether we say a 77X 7v 21pn2 %n. The main issue is how the 13°» of the 997 can grant the
field to the p°1m who does not possess this 13n.
* See n"an M.
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AW 299772 97 XD 8o — and here in the case of 121 71031727 X°1791 the 10 if he

would claim 2"wn% would not be obligated to swear against the admission of the
P>1n that 71 7321, The reason is —

Mypapn By Pyaws PRT — for one does not swear on claims concerning land.
Therefore even if we consider the p*1nin as an X"V that the field belonged to the 2¥7v» in the
past it does not diminish to strength of the » which the 12m can claim 2"wia%. A myaw
weakens a 13°», not an X"Y. This concludes the issue whether we say a X"¥ 01pn2 Wn.

mooIn now offers a proof that in the case of 11°1v the 13°» can be applied to the 721 on behalf
of the 1mn even if does not apply to the pimn.

(R,% 77 17Y) [6:1*:.'; NR] 9217 72 xR X1 ORT9Y — And we find something
similar in the end of [n32:77 nR] 9257 P
"Lwa AR YRR TOPER Ay — concerning the case when someone deposits

something by his friend with a note of deposit. X701 21 ruled that if the bailee (7751)
claims that he returned it to the 7?51 he is believed (with a 7¥12w) even against the "vw. The
reason is because the 7751 has a 13°»; he could have claimed 101X3; they were accidently lost. A
MW is MWd from 2°01X (if he swears). This claim of returning is valid only if there is a 13°» of
101X3; otherwise the claim that it was returned, is not a valid argument, since the 7pon has a
0w which indicates that the 11772 was not returned.

The X713 there discusses also the case where this note was presented by the depositor, to the
orphans of the "mw. The ruling is that the 20> are Mw», because 7" claims on behalf of the
2 (the rule of 711¥v), that their father (may have) returned it. This concludes the X723
there.

mooIn continues with his proof.

YRINI AN PIYY KYT 23 YY n8T — that even though 7"2 will not claim on

behalf of the 220> that there was an ©1IX. Seemingly that would have been the
simplest solution to protect the 20, by claiming 101X1. Nonetheless 7"2 will not claim 101X1
on behalf of the 2»n° since an ©1X is not a usual occurrence. 7"2 dos not want to appear
frivolous in its actions. Nonetheless, even though 7"2 will not claim 10181 —

75 nmma [[75] (99) J2°apw 9577 2R — nevertheless 7"2 will claim on behalf

of the om0’ that the father returned it to the 7757 and the om0 will be exempt
from paying for the object —
T TPV NI O amaNw 1190 —since their father would have been believed

with this claim; had the father himself claimed that he returned the object he would have
been believed —

JOINI TR S»a SRT W3 —with a 1on that he could have claimed 0181, We derive
from that X713 that even though the persons whom we are trying to protect (in this case — the
a21n°) do not have a 1a°», nevertheless since the original party (in this case - the father) had a
Wn; it is irrelevant whether the 0°210° have a 1. The same holds true in our case where the
P1mn brought o>7v later that the 727 was XY 71 712 77. The 721 still has a 13 of 2"wn>, since

3 See footnote # 2.
6 See "3 M.
" See n mx 127 M.
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the 701 never admitted that it ever belonged to the 9v7yn. It is only the p>1mn that lost the 13°n
of 0"wi%. The previous case of N7p9 teaches us that as long as the original party (in our case —
the 72m) has a 2 that is sufficient, even though that the party whom we are protecting (in
our case — the °11n) has no wn.

mooIn offers a dissenting opinion:

PITXY 11929 2IRY — and the >''1 says —

N7 DR 2T NOTAR N7 K97 — that our case is not similar to that case in
N7 DR 92312575 concerning the NP —

92157 71X 757 a8 82717 — for here in our case if the 952 would want —

T 7IpRa N0t — to acquire the rights to the field with this claim —

29Y» 9w 11097 897 — that it was never yours (the 7v1v»), then —

nPY97 1aown 197 K2 — the buyer would not be able to retain this field for himself

757 »79 1w — for the buyer had already known —

Yow anomw — that it did belong to the 7w wn.® In the case of Npo if the father had
claimed 101X1 then the 2°mn> would be Mws. Therefore even though we do not claim 10181 for
the oM, nevertheless the claim of 101X1 acquits them; the o210 do not contradict the 13°» of
10181. Here however had the 791 come after the P17 said 727 71217 7021 821997, and said to
the 7wawn that the field was never yours; then ultimately the n?1? would lose the field. The
2yyn would claim that the alleged 291 never bought it from me, since he claims 2"wn®; and
you the p>1in admit that it was once mine. Therefore we cannot use the n of 2"wn for the
benefit of the P11, since the 2117 contradicts this very same wn.?

In summation: There is a nP12n» between the X"awn and the °"1. The X"2w1 maintains that
even if there was no 2°3w "3 npin the P>1m1 can subsequently bring 0°7¥ that X»1* 717 72 77 and he
will retain the field on the basis of j1°1vv. The "7 argues that in this case the p°1m» cannot
retain this field since he contradicts the potential 13°» of the .

We say X"y 0pn2 131, when the X"V is not 21 a 7y12w; e.g. by ypIp etc.

Would the °"1 argue with the X"2wA if there was a 2210 '3 npIn?

¥ It would seem that the *" disagrees with the X"2w" only in the case where the P*tr» bought Xn¥ 71 72 977 2°79
after he initially claimed 72 71217 7nar X*199n. However if he originally claims *np &1 77 72 7977 701021 801791
711 13217 ,>71°7, then both the n1? and the 131 would be acquitted with the 1 of 2"wi?. See however the R"wonn
°X 7"%2 7"72. See footnote # 2.

? One possible way of explaining the np12ma between the X"2wA and the *"1 is that they differ in the explanation
of a 1. The *"1 maintains that a 13°» functions as a 71w N127, therefore since the P 1n» contradicts the 71vv of
the 131 he cannot derive any benefit from it. The &"2w7 however may maintain that a 13°» is a 717°2 that the 7121
is telling the truth. Once we establish that M17°2, then automatically the °1mn is 7197 in the field. [The difficulty
with this explanation is that seemingly j2°1¥1 and 7172 do not go hand in hand.] Another approach may be; what
is the 772 of 11wv. The X"2w" could maintain that 72 claims that originally before the 15 sold it to the npY?, the
7212 could have acquired it from the 7¥7¥», and therefore the p>11 did not contradict that original 1°n. However
the *"7 will maintain that 71190 reflects s'7"*2 claim now after the 15w (allegedly) sold the field to the “yyn; in
which case the p>11n contradicts the 13°».
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